
Interchange between 𝐴−90 and  𝐴80 

 

 

(Rondon, Simpified Expressions to get A1 and A2 from A80 and A180 in SANE) 

 

Changing 80° to -90° should be the same as below formula: 

 

(Rondon RSS technote # 2003-01 Feb. 2005) 

 

So, if I want to use RSS radiative correction code correctly, the following can be the good 

corresponding part: 

 𝐴⊥ = −
𝐴180𝑐𝑜𝑠80°+𝐴80

𝑠𝑖𝑛80°
= 𝐴−90  

Unlike Hovhannes’ A90(0), it does not have cos⁡(ϕ) part, and have negative sign to match it with 

RSS definition. 

 


